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Essay 2010 – Demand and Supply – Set B

Question 1

Recently, many industry experts have been signaling the death of print media, amid the increasing availability of books, magazines, newspapers and other printed publications on the Internet and e-reader like iPad, Kindle and etc.
(a) Explain how the rise of the Internet and e-reader has affected the market for newspapers. [10]

Question 2

The terrorist attack on New York 11 September 2001 caused a worldwide recession and an increased fear of flying, both severely affected the demand for travel by air. This led to the closure of some of the major airlines in the world.

a) With the aid of diagrams, explain how the recession and the closure of some of the major airlines of the world affected the market for air travel. (10)

Question 3
“Certificate of Entitlement (COE) supply for the fiscal year starting April 2009 will be cut by 24 per cent. A smaller COE quota will mean that overall sales of cars will be affected across the board since the supply of new cars will be restricted by the smaller quota.  On the other hand, SMRT has decided to reduce bus and train fares and to increase the number of train trips given the severe economic crisis. “

                                                                                             Adapted from the Straits Times, Feb 2009

(a) Using a diagram, explain how the recession and fall in the supply of COEs will affect the market for new cars. [10]

Essay 2010 Q2 – 

Question 2

The terrorist attack on New York 11 September 2001 caused a worldwide recession and an increased fear of flying, both severely affected the demand for travel by air. This led to the closure of some of the major airlines in the world.

a) With the aid of diagrams, explain how the recession and the closure of some of the major airlines of the world affected the market for air travel. (10)

a) Introduction

1) States that the market for air travel is determined by the demand and supply of air travel as the price level and quantity of air travel will be set.

2) The market will be affected by the closure of airlines and the incident of September 11. The price and quantity will change.

Main Body

1.  Explain how the market equilibrium is attained and the price and quantity of air travel is determined

- State that the market demand for air travel is downward sloping from left to right.

- State that the market Ss of air travel is upward sloping from left to right

- State that the intersection of Dd and Ss will mean that the market is in equilibrium and price and quantity level will be set.

2. Explain how incident of September 11 will cause a fall in dd for air travel

3. Explain how closure of the airlines will cause a decrease in ss of the air travel

4. Explain that the quantity for air travel will reduce most of the price level is uncertain

If decrease in dd > decrease in ss, price will fall

If decrease in dd < decrease in ss, price will rise but output will fall
Draw diagram and description of the diagram.
Conclusion
Question 2

The terrorist attack on New York 11 September 2001 caused a worldwide recession and an increased fear of flying, both severely affected the demand for travel by air. This led to the closure of some of the major airlines in the world.

a) With the aid of diagrams, explain how the recession and the closure of some of the major airlines of the world affected the market for air travel. (10)

Introduction

The understanding of the above-mentioned pricing condition for the air-travel industry can be explained with the understanding on how market equilibrium is derived. Market equilibrium is attained at the level when the market demand intersects with the market supply, and the price level and quantity is determined for the air-travel market. From the pre-amble, 
Main Body

a) Explain how the price level of the air travel market is determined.


Based on the economic analysis of demand and supply, the price level and quantity for the air-travel market is determined through negotiation of the consumers’ demand preference and purchasing power and producers’ profit motive and production capacity, as reflected by the market demand and supply curve respectively. As seen from diagram 1-a, the demand curve is downward sloping from left to right, implying that more quantity of air-travel will be demanded when there is fall in price and vice-versa. As for the supply curve, more quantity of air-travel will be supplied when there is increase in price and vice-versa. At the point intersection, the market equilibrium is set at Eo where the price level and quantity are at Po and Qo. However, the market equilibrium will change when there is a change in the market and supply condition due to changes identified in the pre-amble.


As stated in the pre-amble, the September 11 terrorist attack has struck fear in the global air-travelers, undermining their preference for air-travel. Consequently, there will be a fall in demand for air-travel as the fear of flying will deter many consumers from flying and resort to other modes of transport or simply cancel their needs to travel. At the same time, this unfortunate incident has also contributed to the world recession and this will reduce the disposable income of global consumers. The fall in income will induce a fall in demand for air-travel as it is a normal good which occupies a large portion of income spent on the consumption of air-travel. Consequently, there will be a reduction in demand in the air-travel industry.


From the supply perspective, the tragic incident has affected the demand for the air-travel industry so extensively that there will be a fall in revenue which will cause a few firms to incur loss or sub-normal profit, given that there is no change in cost condition, The closure of these few firms will mean a reduction in supply of air-travel which will affect the market equilibrium.

When we analyze both effects together, it can be observed that there will be a definite fall in quantity of air-travel but the impact on the price level of air-travel is uncertain. If the fall in demand is lesser than the fall in supply, the price level will rise as there will be a shortage and if the fall in demand is greater than the fall in supply, there will be a fall in price as there will be a surplus.


Given the conditional factors in the pre-amble, there will be a surplus as the fall in demand for air-travel is greater than fall in supply of air-travel. The sense of flying and global recession will affect the whole global consumer market, creating an extensive fall in demand. On the other hand, the fall in supply is limited to a few firms as the airlines have extensive fixed cost and will not close immediately due to temporary unfavourable business environment. Consequently, it can be observed that there will a fall in price and quantity in the air-travel market.

As seen from diagram 1-b, the fall in demand from Do to D1 is greater than the fall in supply from S0 to S1 and this will create a surplus condition. Consequently, there will be a fall in price from Po to P1 and a fall in quantity from Qo to Q1 in the air travel market.

In retrospect, the demand and supply analysis will be able to assess the impact of the incident on the market for air-travel as the event will affect the determinants of demand and supply, The extent of the impact must consider the extent of change in demand and supply and the price-elasticity of demand and supply as it will affect the direction and extent of change in price and output.
Question 3

“Certificate of Entitlement (COE) supply for the fiscal year starting April 2009 will be cut by 24 per cent. A smaller COE quota will mean that overall sales of cars will be affected across the board since the supply of new cars will be restricted by the smaller quota.  On the other hand, SMRT has decided to reduce bus and train fares and to increase the number of train trips given the severe economic crisis. “

                                                                                             Adapted from the Straits Times, Feb 2009

(a) Using a diagram, explain how the recession and fall in the supply of COEs will affect the market for new cars. [10]

Introduction


The market for cars will depict the market equilibrium for car which will set the price and output level of the car market which is determined by the forces and demand supply of cars. The world recession and a reduction in the COE will affect the demand and supply conditions that will affect the market equilibrium, contributing to change in price and output level.

Main body

1.  Explain how the market equilibrium of car is attained and the price and quantity of car is determined

- State that the market demand for car is downward sloping from left to right.
(inverse relationship of the price of cars and quantity demanded of cars – sub and income effect)
- State that the market SS of car is vertically sloped, implying that there is a fixed supply (why the supply is fixed? – the coe is a quota system – ss is fixed by the government)
- State that the intersection of Dd and Ss will mean that the market is in equilibrium and price and quantity level will be set as seen in the diagram.

( the price level is set by the change in demand as the qty in the market is determined by the fixed supply set by the government)

2. Explain how the recession will lead to a fall in market demand for cars

Decrease in disposable income – lower purchasing power – decrease in demand for cars – normal good – large proportion of income spent on the car.

Switch to alternative MRT services – decrease in demand for cars as there is an increase in quantity demanded for mrt services – a cheaper alternative mode of transport

3.  How reduction the supply of COE affect the market ss

Directives set by the government to reduce car population – decrease in the supply – shift of the vertical supply to the left.

4. How the market equilibriumm will change – the extent of change in price level and qty

The qty for the car market will reduce as seen in the diagram – control by the government 

As for price level – the impact is based on the extent of reduction in demand
Decrease in demand < decrease in supply – price increase

Decrease in demand = decrease in supply – price remains the same

Decrease in demand > decrease in supply – price decrease

Prediction : the impact will base on the extent of change in the market demand which is determined by the severity of the recession and the time period of recession.

Conclusion

Question 1

Recently, many industry experts have been signaling the death of print media, amid the increasing availability of books, magazines, newspapers and other printed publications on the Internet and e-reader like iPad, Kindle and etc.
(a) Explain how the rise of the Internet and e-reader has affected the market for newspapers. [10]

Introduction


The market for newspaper will depict the market equilibrium for newspaper which will set the price and output level of the newspaper market which is determined by the forces and demand supply of newspaper. The increasing availability of other forms of mass media will affect the demand and supply conditions that will affect the market equilibrium, contributing to change in price and output level.

Main body

a)
Explain how the market equilibrium is set where the price and output level is set.

- State that the market demand for newspaper is downward sloping from left to right, implying that the quantity demanded will increase when the price falls and vice-versa due the substitution and income effect
- State that the market SS of newspaper is upward sloping from left to right, implying that the quantity supplied will increase when the price rises, subjected to the capacity of production and profit maximization rule
- State that the intersection of DD and SS will mean that the market is in equilibrium and price and quantity level will be set.
b)
Explain how the market demand will change as a result of the proliferation of internet and e-reader.
- Change in taste and preference – more convenient and wider scope of transmission of information and more appealing form of mass communication with the younger population

- lower price in term of long term as e-reader can allow the consumer to pay less 

- It will cause a fall in demand, a leftward shift of the demand from Do to D1 which will lead to an excess demand condition, inducing a fall in the price level from Po to P1 and a fall in quantity from Qo to Q1 as seen from the diagram.
Conclusion
Simon Ng @ 96890510 simon@economicfocus.com.sg
Page 6 of 8
Main Centre: Block 283, Bishan St 22, #01-185, S570283
Branch        : 1 Brooke Road, Katong Plaza, B1-07, S429979

